

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Peck Road TSSP - Hemlock Street to Workman Mill Road

Project ID: TSM0010459
Bids Opened: 10/14/2025

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engine	eer's Estimate	(1) California Eng	Professional ineering, Inc.	(2) Select	Electric, Inc.	(3) Elecnor E	Belco Electric, Inc.	(4) Crosstown	n Electrical & Data, Inc.
(1) Pre	eliminary Bid Amount					\$	1,600,058.58	\$	1,625,250.00	\$	1,651,888.00	\$^	1,830,590.00
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	11	\$500.00	MTH	\$5,500.00	\$500.00	\$5,500.00	\$500.00	\$5,500.00	\$500.00	\$5,500.00	\$500.00	\$5,500.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF THE LTWHP	1	\$16,500.00	LS	\$16,500.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
5	IMPLEMENTATION OF BMPS	1	\$3,750.00	LS	\$3,750.00	\$2,000.00	\$2,000.00	\$2,534.00	\$2,534.00	\$1,000.00	\$1,000.00	\$7,500.00	\$7,500.00
6	MOBILIZATION	1	\$84,000.00	LS	\$84,000.00	\$46,750.00	\$46,750.00	\$6,272.00	\$6,272.00	\$118,670.00	\$118,670.00	\$35,000.00	\$35,000.00
7	EXPLORATORY EXCAVATION OF UTILITIES (ALLOWANCE OF \$18,750)	18750	\$1.00	AL	\$18,750.00	\$1.00	\$18,750.00	\$1.00	\$18,750.00	\$1.00	\$18,750.00	\$1.00	\$18,750.00
8	CONCRETE REMOVAL (NON- REINFORCED)	8	\$750.00	CY	\$6,000.00	\$1,725.00	\$13,800.00	\$3,168.00	\$25,344.00	\$1,707.00	\$13,656.00	\$1,835.00	\$14,680.00
9	UNCLASSIFIED EXCAVATION	4	\$562.50	CY	\$2,250.00	\$1,725.00	\$6,900.00	\$1,901.00	\$7,604.00	\$1,707.00	\$6,828.00	\$1,835.00	\$7,340.00
10	CRUSHED MISCELLANEOUS BASE	4	\$750.00	CY	\$3,000.00	\$920.00	\$3,680.00	\$1,204.00	\$4,816.00	\$911.00	\$3,644.00	\$980.00	\$3,920.00
11	TRENCH BACKFILL SLURRY (CLASS 270-E-500)	3	\$875.00	CY	\$2,625.00	\$1,150.00	\$3,450.00	\$1,267.00	\$3,801.00	\$1,138.00	\$3,414.00	\$2,010.00	\$6,030.00
12	AC PAVEMENT	3	\$1,625.00	TON	\$4,875.00	\$3,450.00	\$10,350.00	\$1,204.00	\$3,612.00	\$3,414.00	\$10,242.00	\$3,670.00	\$11,010.00
13	PCC PAVEMENT	1	\$1,000.00	CY	\$1,000.00	\$3,220.00	\$3,220.00	\$6,336.00	\$6,336.00	\$3,187.00	\$3,187.00	\$3,425.00	\$3,425.00
14	PCC CURB & GUTTER	8	\$112.50	LF	\$900.00	\$285.00	\$2,280.00	\$108.00	\$864.00	\$285.00	\$2,280.00	\$305.00	\$2,440.00

Project ID: TSM0010459

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engine	eer's Estimate		Professional gineering, Inc.	(2) Select	t Electric, Inc.	(3) Elecnor B	elco Electric, Inc.	(4) Crosstow	n Electrical & Data, Inc.
(1) Pre	eliminary Bid Amount					\$	1,600,058.58	\$	1,625,250.00	\$	1,651,888.00	\$	1,830,590.00
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
15	PCC CURB & GUTTER, TYPE A2-VAR	36	\$112.50	LF	\$4,050.00	\$285.00	\$10,260.00	\$108.00	\$3,888.00	\$285.00	\$10,260.00	\$305.00	\$10,980.00
16	PCC WALK, 4" THICK	10	\$37.50	SF	\$375.00	\$115.00	\$1,150.00	\$133.00	\$1,330.00	\$114.00	\$1,140.00	\$125.00	\$1,250.00
17	PCC WALK & CURB RAMPS, 4" THICK	200	\$37.50	SF	\$7,500.00	\$115.00	\$23,000.00	\$127.00	\$25,400.00	\$114.00	\$22,800.00	\$125.00	\$25,000.00
18	DETECTABLE WARNING SURFACE	40	\$180.00	SF	\$7,200.00	\$140.00	\$5,600.00	\$70.00	\$2,800.00	\$143.00	\$5,720.00	\$155.00	\$6,200.00
19	2" CONDUIT (SCH 80 PVC)	600	\$100.00	LF	\$60,000.00	\$70.00	\$42,000.00	\$68.00	\$40,800.00	\$93.00	\$55,800.00	\$175.00	\$105,000.00
20	3" CONDUIT (SCH 80 PVC)	770	\$110.00	LF	\$84,700.00	\$75.00	\$57,750.00	\$124.00	\$95,480.00	\$108.00	\$83,160.00	\$245.00	\$188,650.00
21	4" CONDUIT (SCH 80 PVC)	90	\$120.00	LF	\$10,800.00	\$85.00	\$7,650.00	\$243.00	\$21,870.00	\$56.00	\$5,040.00	\$132.00	\$11,880.00
22	2-PAIR DETECTOR LEAD-IN CABLE	6000	\$4.00	LF	\$24,000.00	\$2.25	\$13,500.00	\$2.00	\$12,000.00	\$3.00	\$18,000.00	\$2.00	\$12,000.00
23	3-CONDUCTOR SIGNAL CABLE(EXCLUDING CONDUIT)	830	\$3.15	LF	\$2,614.50	\$3.00	\$2,490.00	\$2.00	\$1,660.00	\$4.10	\$3,403.00	\$4.00	\$3,320.00
24	5-CONDUCTOR SIGNAL CABLE(EXCLUDING CONDUIT)	190	\$5.40	LF	\$1,026.00	\$5.00	\$950.00	\$2.00	\$380.00	\$4.80	\$912.00	\$5.00	\$950.00
25	12-CONDUCTOR SIGNAL CABLE(EXCLUDING CONDUIT)	860	\$6.00	LF	\$5,160.00	\$2.90	\$2,494.00	\$4.00	\$3,440.00	\$7.80	\$6,708.00	\$21.00	\$18,060.00
26	#6 WIRE	5	\$1.90	LF	\$9.50	\$10.00	\$50.00	\$2.00	\$10.00	\$4.00	\$20.00	\$22.00	\$110.00
27	#10 WIRE	1715	\$1.90	LF	\$3,258.50	\$2.08	\$3,567.20	\$1.00	\$1,715.00	\$2.20	\$3,773.00	\$3.00	\$5,145.00
28	REMOVE PULL BOX AND RESURFACE SIDEWALK	3	\$2,000.00	EA	\$6,000.00	\$600.00	\$1,800.00	\$1,826.00	\$5,478.00	\$2,215.00	\$6,645.00	\$2,150.00	\$6,450.00
29	NO. 5 PULL BOX INCL PCC COVER	5	\$1,000.00	EA	\$5,000.00	\$850.00	\$4,250.00	\$764.00	\$3,820.00	\$1,169.00	\$5,845.00	\$1,850.00	\$9,250.00
30	NO. 5T PULL BOX (INCLUDE STEEL COVER)	1	\$1,000.00	EA	\$1,000.00	\$1,200.00	\$1,200.00	\$1,587.00	\$1,587.00	\$2,383.00	\$2,383.00	\$2,525.00	\$2,525.00
31	NO. 6 PULL BOX INCL PCC COVER	19	\$1,200.00	EA	\$22,800.00	\$1,000.00	\$19,000.00	\$928.00	\$17,632.00	\$1,385.00	\$26,315.00	\$2,405.00	\$45,695.00
32	TYPE 2 COMPOSITE PULL BOX INCLUDING COVER	6	\$1,500.00	EA	\$9,000.00	\$1,600.00	\$9,600.00	\$1,095.00	\$6,570.00	\$1,985.00	\$11,910.00	\$2,085.00	\$12,510.00

Project ID: TSM0010459
Bids Opened: 10/14/2025

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engine	eer's Estimate	\ /	Professional jineering, Inc.	(2) Selec	t Electric, Inc.	(3) Elecnor E	Belco Electric, Inc.	(4) Crosstow	n Electrical & Data, Inc.
(1) Pre	eliminary Bid Amount					\$	1,600,058.58	\$	1,625,250.00	\$	1,651,888.00	\$	1,830,590.00
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
33	TYPE 3 COMPOSITE PULL	4	\$1,700.00	EA	\$6,800.00	\$1,800.00	\$7,200.00	\$1,733.00	\$6,932.00	\$2,603.00	\$10,412.00	\$2,305.00	\$9,220.00
	BOX INCLUDING COVER												
34	INDUCTIVE LOOP DETECTOR	7810	\$15.00	LF	\$117,150.00	\$17.00	\$132,770.00	\$23.00	\$179,630.00	\$17.50	\$136,675.00	\$25.00	\$195,250.00
	AND LEADS SAW CUT												
35	REMOVE CONTROLLER	2	\$650.00	EA	\$1,300.00	\$350.00	\$700.00	\$1,070.00	\$2,140.00	\$200.00	\$400.00	\$180.00	\$360.00
36	REMOVE TYPE 3 STANDARD	2	\$6,000.00	EA	\$12,000.00	\$8,000.00	\$16,000.00	\$738.00	\$1,476.00	\$12,000.00	\$24,000.00	\$4,500.00	\$9,000.00
	NEAR HIGH VOLTAGE LINES												
0.7	(COMPLETE)(EXCL. FOUND,)		\$1,300.00		\$5,200.00	\$1,000.00	\$4,000.00	\$1,310.00	ΦE 240.00	\$1,047.00	£4.400.00	¢4.475.00	\$4,700.00
37	REMOVE TYPE 17	4	\$1,300.00	EA	\$5,200.00	\$1,000.00	\$4,000.00	\$1,310.00	\$5,240.00	\$1,047.00	\$4,188.00	\$1,175.00	\$4,700.00
	STANDARD (COMPLETE) (EXCL. FOUND.)												
38	REMOVE TYPE 17	2	\$6,000.00	EA	\$12,000.00	\$10,000.00	\$20,000.00	\$1,310.00	\$2,620.00	\$12,000.00	\$24,000.00	\$7,500.00	\$15,000.00
30	STANDARD NEAR HIGH	۷	ψ0,000.00	LA	Ψ12,000.00	ψ10,000.00	Ψ20,000.00	ψ1,010.00	ΨΣ,020.00	ψ12,000.00	Ψ2 1,000.00	ψ1,000.00	Ψ10,000.00
	VOLTAGE LINES (COMPLETE)												
	(EXCL. FOUND.)												
39	REMOVE TYPE 24	2	\$2,500.00	EA	\$5,000.00	\$1,300.00	\$2,600.00	\$1,706.00	\$3,412.00	\$1,465.00	\$2,930.00	\$1,475.00	\$2,950.00
	STANDARD (COMPLETE)												
	(EXCL. FOUND.)												
40	REMOVE VEHICLE HEAD	17	\$350.00	EA	\$5,950.00	\$100.00	\$1,700.00	\$142.00	\$2,414.00	\$200.00	\$3,400.00	\$95.00	\$1,615.00
	(COMPLETE)												
41	REMOVE PEDESTRIAN HEAD	6	\$250.00	EA	\$1,500.00	\$150.00	\$900.00	\$142.00	\$852.00	\$200.00	\$1,200.00	\$90.00	\$540.00
- 15	(COMPLETE)		0.150.00		#450.00	0400.00	\$100.00	\$440.00	# 140.00	* 400.00	# 100.00	400.00	400.00
42	REMOVE PEDESTRIAN PUSH	1	\$150.00	EA	\$150.00	\$100.00	\$100.00	\$142.00	\$142.00	\$100.00	\$100.00	\$90.00	\$90.00
43	BUTTON REMOVE TYPE 3	2	\$1,900.00	EA	\$3,800.00	\$1,000.00	\$2,000.00	\$1,375.00	\$2,750.00	\$1,000.00	\$2,000.00	\$1,760.00	\$3,520.00
43	FOUNDATION	2	ψ1,500.00	EA	ψ5,000.00	Ψ1,000.00	Ψ2,000.00	ψ1,575.00	Ψ2,730.00	ψ1,000.00	Ψ2,000.00	ψ1,700.00	ψ0,020.00
44	REMOVE TYPE 17	6	\$1,900.00	EA	\$11,400.00	\$1,200.00	\$7,200.00	\$1,375.00	\$8,250.00	\$2,000.00	\$12,000.00	\$1,760.00	\$10,560.00
	FOUNDATION	Ū	, ,		, ,	, ,	, ,	, ,	, , , , , , , ,	, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
45	REMOVE TYPE 24	2	\$1,900.00	EA	\$3,800.00	\$1,500.00	\$3,000.00	\$1,375.00	\$2,750.00	\$2,000.00	\$4,000.00	\$2,845.00	\$5,690.00
	FOUNDATION												
46	REMOVE 2-CHANNEL ILD	39	\$65.00	EA	\$2,535.00	\$50.00	\$1,950.00	\$570.00	\$22,230.00	\$30.00	\$1,170.00	\$35.00	\$1,365.00
	SENSOR UNIT												
47	REMOVE GPS UTB UNIT &	1	\$200.00	EA	\$200.00	\$100.00	\$100.00	\$570.00	\$570.00	\$200.00	\$200.00	\$180.00	\$180.00
	ANTENNA												

Project ID: TSM0010459
Bids Opened: 10/14/2025

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engine	er's Estimate		ineering, Inc.	. ,	Electric, Inc.	(3) Elecnor B	Inc.	(4) Crosstow	Data, Inc.
` ,	eliminary Bid Amount					\$	1,600,058.58	\$	1,625,250.00	\$	1,651,888.00	\$	1,830,590.00
` '	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
48	REMOVE RADIO CORRECTED TIME BASE UNIT	3	\$250.00	EA	\$750.00	\$150.00	\$450.00	\$570.00	\$1,710.00	\$200.00	\$600.00	\$180.00	\$540.00
49	REMOVE RCTB ANTENNA AND CABLE	4	\$525.00	EA	\$2,100.00	\$150.00	\$600.00	\$570.00	\$2,280.00	\$200.00	\$800.00	\$90.00	\$360.00
50	REMOVE CONFLICT MONITOR	1	\$250.00	EA	\$250.00	\$100.00	\$100.00	\$570.00	\$570.00	\$200.00	\$200.00	\$180.00	\$180.00
51	RELOCATE LUMINAIRE	10	\$500.00	EA	\$5,000.00	\$250.00	\$2,500.00	\$519.00	\$5,190.00	\$700.00	\$7,000.00	\$755.00	\$7,550.00
52	RELOCATE VEHICLE HEAD (COMPLETE)	8	\$500.00	EA	\$4,000.00	\$475.00	\$3,800.00	\$441.00	\$3,528.00	\$628.00	\$5,024.00	\$450.00	\$3,600.00
53	RELOCATE PEDESTRIAN HEAD (COMPLETE)	7	\$500.00	EA	\$3,500.00	\$575.00	\$4,025.00	\$282.00	\$1,974.00	\$524.00	\$3,668.00	\$310.00	\$2,170.00
54	RELOCATE PEDESTRIAN PUSH BUTTON	4	\$250.00	EA	\$1,000.00	\$150.00	\$600.00	\$525.00	\$2,100.00	\$150.00	\$600.00	\$270.00	\$1,080.00
55	RELOCATE INTERNALLY ILLUMINATED STREET NAME SIGN	2	\$600.00	EA	\$1,200.00	\$1,000.00	\$2,000.00	\$1,439.00	\$2,878.00	\$800.00	\$1,600.00	\$1,185.00	\$2,370.00
56	RELOCATE RETRO REFLECTIVE STREET NAME SIGN	4	\$600.00	EA	\$2,400.00	\$875.00	\$3,500.00	\$558.00	\$2,232.00	\$600.00	\$2,400.00	\$825.00	\$3,300.00
57	RELOCATE EV PREEMPTION MODULE	2	\$350.00	EA	\$700.00	\$1,000.00	\$2,000.00	\$1,691.00	\$3,382.00	\$400.00	\$800.00	\$2,110.00	\$4,220.00
58	RELOCATE WIRELESS RADIO ANTENNA	1	\$1,300.00	EA	\$1,300.00	\$500.00	\$500.00	\$1,405.00	\$1,405.00	\$400.00	\$400.00	\$935.00	\$935.00
59	TYPE 2070 LX CONTROLLER WITH LINUX PROCESSOR AND D4 PROGRAM	1	\$12,000.00	EA	\$12,000.00	\$16,300.00	\$16,300.00	\$16,077.00	\$16,077.00	\$15,230.00	\$15,230.00	\$14,675.00	\$14,675.00
60	TYPE ATC 2070 CONTROLLER WITH OMNI EX SOFTWARE	1	\$12,000.00	EA	\$12,000.00	\$15,000.00	\$15,000.00	\$13,445.00	\$13,445.00	\$12,717.00	\$12,717.00	\$12,350.00	\$12,350.00
61	FURNISH AND INSTALL BITRANS 233 PROGRAM	1	\$500.00	EA	\$500.00	\$55,000.00	\$55,000.00	\$5,389.00	\$5,389.00	\$4,605.00	\$4,605.00	\$4,685.00	\$4,685.00
62	2-CHANNEL ILD SENSOR UNIT	2	\$350.00	EA	\$700.00	\$340.00	\$680.00	\$906.00	\$1,812.00	\$325.00	\$650.00	\$425.00	\$850.00

Project ID: TSM0010459

Bids Opened: 10/14/2025

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engine	eer's Estimate		a Professional gineering, Inc.	(2) Selec	t Electric, Inc.	(3) Elecnor E	Belco Electric, Inc.	(4) Crosstow	n Electrical & Data, Inc.
(1) Pr	eliminary Bid Amount						\$1,600,058.58	\$	1,625,250.00	\$	1,651,888.00	\$	1,830,590.00
(2) Ur	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	Qty	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
63	GPS UTB UNIT AND	18	\$2,200.00	EA	\$39,600.00	\$4,200.00	\$75,600.00	\$4,430.00	\$79,740.00	\$4,108.00	\$73,944.00	\$4,410.00	\$79,380.00
	ANTENNA	. •											
64	2070 7G GPS MODULE AND	2	\$2,250.00	EA	\$4,500.00	\$3,850.00	\$7,700.00	\$4,163.00	\$8,326.00	\$3,854.00	\$7,708.00	\$3,995.00	\$7,990.00
	ANTENNA												
65	2010 ECL CONFLICT	1	\$2,500.00	EA	\$2,500.00	\$3,140.00	\$3,140.00	\$3,193.00	\$3,193.00	\$2,508.00	\$2,508.00	\$2,750.00	\$2,750.00
	MONITOR												
66	1-CAMERA VIDEO	2	\$32,000.00	EΑ	\$64,000.00	\$29,000.00	\$58,000.00	\$25,864.00	\$51,728.00	\$26,604.00	\$53,208.00	\$22,980.00	\$45,960.00
	DETECTION SYSTEM												
	(COMPLETE)												
67	2-CAMERA VIDEO	1	\$38,000.00	EA	\$38,000.00	\$39,500.00	\$39,500.00	\$36,748.00	\$36,748.00	\$36,392.00	\$36,392.00	\$35,990.00	\$35,990.00
	DETECTION SYSTEM												
	(COMPLETE)												
68	4-UNIT VIDEO/RADAR	3	\$62,500.00	EA	\$187,500.00	\$59,300.00	\$177,900.00	\$59,570.00	\$178,710.00	\$56,136.00	\$168,408.00	\$53,885.00	\$161,655.00
	DETECTION SYSTEM												
	(COMPLETE)		£4.200.00		ΦE 200 00	#0.000.00	#2C 000 00	¢4.440.00	ФГ 7 00 00	¢0.500.00	£40,000,00	#0.400.00	\$8,640.00
69	RELOCATE VIDEO/RADAR	4	\$1,300.00	EA	\$5,200.00	\$9,000.00	\$36,000.00	\$1,440.00	\$5,760.00	\$2,500.00	\$10,000.00	\$2,160.00	\$8,640.00
70	DETECTION UNIT		\$300.00		\$600.00	\$1,000.00	\$2,000.00	\$3,253.00	\$6,506.00	\$2,500.00	\$5,000.00	\$1,555.00	\$3,110.00
70	RECONFIGURE RADAR	2	φ300.00	EA	\$000.00	\$1,000.00	\$2,000.00	φ3,233.00	\$0,500.00	\$2,500.00	φ5,000.00	φ1,555.00	φ3, 1 10.00
71	SENSING ZONE TYPE 19 STANDARD	3	\$12,000.00	EA	\$36,000.00	\$17,000.00	\$51,000.00	\$13,128.00	\$39,384.00	\$14,719.00	\$44,157.00	\$15,035.00	\$45,105.00
71	TYPE 19 STANDARD TYPE 24 STANDARD	<u> </u>	\$15,000.00	EA EA	\$15,000.00	\$19,000.00	\$19,000.00	\$15,293.00	\$15,293.00	\$16,203.00	\$16,203.00	\$16,661.00	\$16,661.00
73	TYPE 24 STANDARD TYPE 26 STANDARD	3	\$19,000.00	EA EA	\$57,000.00	\$19,700.00	\$59,100.00	\$17,097.00	\$51,291.00	\$17,925.00	\$53,775.00	\$16,855.00	\$50,565.00
74	TYPE 20 STANDARD	3	\$22,000.00	EA EA	\$66,000.00	\$32,000.00	\$96,000.00	\$28,066.00	\$84,198.00	\$28,061.00	\$84,183.00	\$24,890.00	\$74,670.00
75	TYPE 19 STANDARD	3	\$5,000.00	EA EA	\$15,000.00	\$3,800.00	\$11,400.00	\$6,337.00	\$19,011.00	\$6,675.00	\$20,025.00	\$9,705.00	\$29,115.00
75	FOUNDATION	3	ψ5,000.00	EA	Ψ13,000.00	ψ0,000.00	Ψ11,400.00	ψ0,007.00	ψ10,011.00	ψ0,070.00	Ψ20,023.00	ψ3,703.00	Ψ25,115.00
76	TYPE 24 STANDARD	1	\$5,700.00	EA	\$5,700.00	\$4,700.00	\$4,700.00	\$6,337.00	\$6,337.00	\$6,808.00	\$6,808.00	\$9,950.00	\$9,950.00
70	FOUNDATION		φο,. σσ.σσ	LA	φο,. σοισσ	ψ 1,1 00.00	\$ 1,1 00100	ψο,σοι .σο	φο,σοι .σο	40,000.00	\$5,555.55	40,000.00	40,000.00
77	TYPE 26 STANDARD	3	\$6,300.00	EA	\$18,900.00	\$5,500.00	\$16,500.00	\$7,787.00	\$23,361.00	\$7,528.00	\$22,584.00	\$10,340.00	\$31,020.00
' '	FOUNDATION	Ü	, -,		, -,	, , , , , , , , , , , , , , , , , , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , -	, ,,,,	, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,
78	TYPE 29 STANDARD	3	\$6,900.00	EA	\$20,700.00	\$6,500.00	\$19,500.00	\$7,829.00	\$23,487.00	\$7,840.00	\$23,520.00	\$13,725.00	\$41,175.00
. 0	FOUNDATION	· ·		_, .									
79	30' SIGNAL MAST ARM	5	\$4,400.00	EA	\$22,000.00	\$6,040.00	\$30,200.00	\$5,344.00	\$26,720.00	\$5,608.00	\$28,040.00	\$4,685.00	\$23,425.00
80	35' SIGNAL MAST ARM	2	\$5,000.00	EA	\$10,000.00	\$6,938.00	\$13,876.00	\$5,797.00	\$11,594.00	\$5,873.00	\$11,746.00	\$6,785.00	\$13,570.00
81	40' SIGNAL MAST ARM	1	\$5,700.00	EA	\$5,700.00	\$7,800.00	\$7,800.00	\$8,155.00	\$8,155.00	\$8,125.00	\$8,125.00	\$8,050.00	\$8,050.00

Project ID: TSM0010459

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engine	eer's Estimate	Eng	Professional gineering, Inc.	. ,	Electric, Inc.	(3) Elecnor B	Inc.	(4) Crosstow	Data, Inc.
	liminary Bid Amount					\$	1,600,058.58	\$	1,625,250.00	\$	1,651,888.00	\$	1,830,590.00
(2) Unit	Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
82	50' SIGNAL MAST ARM	2	\$6,900.00	EA	\$13,800.00	\$8,000.00	\$16,000.00	\$8,326.00	\$16,652.00	\$8,190.00	\$16,380.00	\$7,890.00	\$15,780.00
83	6' LUMINAIRE MAST ARM	1	\$1,500.00	EA	\$1,500.00	\$2,000.00	\$2,000.00	\$1,354.00	\$1,354.00	\$1,545.00	\$1,545.00	\$1,230.00	\$1,230.00
84	6' HORIZONTAL LUMINAIRE MAST ARM	1	\$1,500.00	EA	\$1,500.00	\$2,000.00	\$2,000.00	\$1,354.00	\$1,354.00	\$1,545.00	\$1,545.00	\$1,250.00	\$1,250.00
85	8' LUMINAIRE MAST ARM	1	\$1,500.00	EA	\$1,500.00	\$2,500.00	\$2,500.00	\$1,368.00	\$1,368.00	\$1,558.00	\$1,558.00	\$1,250.00	\$1,250.00
86	8' HORIZONTAL LUMINAIRE MAST ARM	1	\$1,500.00	EA	\$1,500.00	\$2,500.00	\$2,500.00	\$1,368.00	\$1,368.00	\$1,558.00	\$1,558.00	\$1,465.00	\$1,465.00
87	12' LUMINAIRE MAST ARM	4	\$1,200.00	EA	\$4,800.00	\$2,500.00	\$10,000.00	\$1,608.00	\$6,432.00	\$1,704.00	\$6,816.00	\$1,465.00	\$5,860.00
88	15' LUMINAIRE MAST ARM	2	\$1,500.00	EA	\$3,000.00	\$710.00	\$1,420.00	\$1,477.00	\$2,954.00	\$1,704.00	\$3,408.00	\$1,485.00	\$2,970.00
89	PEDESTRIAN PUSH BUTTON	3	\$600.00	EA	\$1,800.00	\$1,500.00	\$4,500.00	\$844.00	\$2,532.00	\$480.00	\$1,440.00	\$675.00	\$2,025.00
90	PEDESTRIAN PUSH BUTTON POST	1	\$750.00	EA	\$750.00	\$1,200.00	\$1,200.00	\$678.00	\$678.00	\$1,158.00	\$1,158.00	\$750.00	\$750.00
91	PEDESTRIAN PUSH BUTTON POST FOUNDATION	1	\$900.00	EA	\$900.00	\$3,250.00	\$3,250.00	\$1,712.00	\$1,712.00	\$1,000.00	\$1,000.00	\$2,865.00	\$2,865.00
92	INTERNALLY ILLUMINATED STREET NAME SIGN	5	\$3,000.00	EA	\$15,000.00	\$3,250.00	\$16,250.00	\$3,889.00	\$19,445.00	\$3,642.00	\$18,210.00	\$3,495.00	\$17,475.00
93	3-12" LED VEHICLE HEAD (COMPLETE)	38	\$1,500.00	EA	\$57,000.00	\$2,050.00	\$77,900.00	\$1,875.00	\$71,250.00	\$2,028.00	\$77,064.00	\$1,950.00	\$74,100.00
94	5-12" LED VEHICLE HEAD (COMPLETE)	2	\$2,000.00	EA	\$4,000.00	\$2,640.00	\$5,280.00	\$2,434.00	\$4,868.00	\$3,086.00	\$6,172.00	\$2,430.00	\$4,860.00
95	LED PEDESTRIAN HEAD (COMPLETE)	11	\$1,300.00	EA	\$14,300.00	\$1,600.00	\$17,600.00	\$1,240.00	\$13,640.00	\$1,574.00	\$17,314.00	\$1,235.00	\$13,585.00
96	SALVAGE EQUIPMENT	1	\$5,000.00	LS	\$5,000.00	\$10,000.00	\$10,000.00	\$27,953.00	\$27,953.00	\$8,375.00	\$8,375.00	\$14,205.50	\$14,205.50
97	12" STRIPING (THERMOPLASTIC)	4	\$6.25	LF	\$25.00	\$6.30	\$25.20	\$14.00	\$56.00	\$10.00	\$40.00	\$7.00	\$28.00
98	DETAIL 22 (THERMOPLASTIC)	325	\$5.00	LF	\$1,625.00	\$3.20	\$1,040.00	\$23.00	\$7,475.00	\$3.20	\$1,040.00	\$4.00	\$1,300.00
99	DETAIL 38 (THERMOPLASTIC)	75	\$5.00	LF	\$375.00	\$4.00	\$300.00	\$20.00	\$1,500.00	\$4.00	\$300.00	\$4.30	\$322.50
100	DETAIL 40 (THERMOPLASTIC)	70	\$5.00	LF	\$350.00	\$3.45	\$241.50	\$7.00	\$490.00	\$239.00	\$16,730.00	\$4.00	\$280.00
101	PAVEMENT MARKINGS (THERMOPLASTIC)	30	\$10.00	SF	\$300.00	\$11.50	\$345.00	\$18.00	\$540.00	\$12.00	\$360.00	\$12.00	\$360.00
102	RED CURB MARKING	1864	\$7.00	LF	\$13,048.00	\$2.87	\$5,349.68	\$13.00	\$24,232.00	\$3.00	\$5,592.00	\$3.00	\$5,592.00
103	REMOVE CONFLICTING STRIPING	315	\$7.00	LF	\$2,205.00	\$8.00	\$2,520.00	\$18.00	\$5,670.00	\$8.00	\$2,520.00	\$9.00	\$2,835.00
104	SIGN PANEL	5	\$230.00	EA	\$1,150.00	\$290.00	\$1,450.00	\$285.00	\$1,425.00	\$188.00	\$940.00	\$205.00	\$1,025.00

Project ID: TSM0010459

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engin	eer's Estimate		ia Professional ngineering, Inc.	(2) Sele	ect Electric, Inc.	(3) Elecnor	Belco Electric, Inc.	(4) Crossto	wn Electrical & Data, Inc.
(1) Pr	eliminary Bid Amount						\$1,600,058.58		\$1,625,250.00		\$1,651,888.00		\$1,830,590.00
(2) Ur	nit Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
105	INSTALL SIGN (MAST-ARM HANGER)	2	\$375.00	EA	\$750.00	\$500.00	\$1,000.00	\$1,584.00	\$3,168.00	\$618.00	\$1,236.00	\$275.00	\$550.00
106	INSTALL SIGN (ROADSIDE SIGN)	4	\$650.00	EA	\$2,600.00	\$87.00	\$348.00	\$317.00	\$1,268.00	\$86.00	\$344.00	\$92.00	\$368.00
107	FURNISH AND INSTALL SIGN POST (ROADSIDE SIGN)	2	\$350.00	EA	\$700.00	\$258.00	\$516.00	\$380.00	\$760.00	\$257.00	\$514.00	\$275.00	\$550.00
108	RELOCATE SIGN	9	\$400.00	EA	\$3,600.00	\$87.00	\$783.00	\$190.00	\$1,710.00	\$86.00	\$774.00	\$92.00	\$828.00
109	RELOCATE SIGN POST	1	\$275.00	EA	\$275.00	\$258.00	\$258.00	\$380.00	\$380.00	\$257.00	\$257.00	\$275.00	\$275.00
110	TRAFFIC CONTROL	1	\$175,000.00	LS	\$175,000.00	\$41,000.00	\$41,000.00	\$22,657.00	\$22,657.00	\$26,000.00	\$26,000.00	\$30,000.00	\$30,000.00
111	FLASHING ARROW SIGN	2	\$5,000.00	EA	\$10,000.00	\$1,500.00	\$3,000.00	\$11,848.00	\$23,696.00	\$795.00	\$1,590.00	\$5,995.00	\$11,990.00
112	CHANGEABLE MESSAGE SIGN	2	\$5,000.00	EA	\$10,000.00	\$2,400.00	\$4,800.00	\$15,974.00	\$31,948.00	\$2,650.00	\$5,300.00	\$6,430.00	\$12,860.00
Unit F	rice Total			;	\$1,605,581.50		\$1,600,058.58		\$1,625,250.00		\$1,651,888.00		\$1,830,590.00
(3) LS	BE/DVBE/SE Preference Amount						\$0.00		\$0.00		\$0.00		\$0.00
(4) LS	BE/DVBE/SE Adjusted Amount						\$1,600,058.58		\$1,625,250.00		\$1,651,888.00		\$1,830,590.00
Comr	nents					APPARENT	LOW BIDDER						

Addenda: 0

Duration: 225 Day(s)



Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Peck Road TSSP - Hemlock Street to Workman Mill Road

Project ID: TSM0010459 Bids Opened: 10/14/2025

Project Manager: Sa'ld Poosti 818-370-1936

				Engine	eer's Estimate	(5) Servitek	Electric, Inc.	(6) POLO En	gineering Inc.				
(1) Pre	liminary Bid Amount					\$2	2,384,812.00	\$	2,403,063.78				
(2) Uni	t Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00				
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	11	\$500.00		\$5,500.00	\$500.00	\$5,500.00	\$500.00	\$5,500.00				
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00				
4	IMPLEMENTATION OF THE LTWHP	1	\$16,500.00	LS	\$16,500.00	\$7,200.00	\$7,200.00	\$13,440.00	\$13,440.00				
5	IMPLEMENTATION OF BMPS	1	\$3,750.00	LS	\$3,750.00	\$5,600.00	\$5,600.00	\$16,800.00	\$16,800.00				
6	MOBILIZATION	1	\$84,000.00	LS	\$84,000.00	\$70,000.00	\$70,000.00	\$215,040.00	\$215,040.00				
7	EXPLORATORY EXCAVATION OF UTILITIES (ALLOWANCE OF \$18,750)	18750	\$1.00	AL	\$18,750.00	\$1.00	\$18,750.00	\$1.00	\$18,750.00				
8	CONCRETE REMOVAL (NON- REINFORCED)	8	\$750.00	CY	\$6,000.00	\$2,100.00	\$16,800.00	\$1,301.00	\$10,408.00				
9	UNCLASSIFIED EXCAVATION	4	\$562.50	CY	\$2,250.00	\$2,100.00	\$8,400.00	\$994.75	\$3,979.00				
10	CRUSHED MISCELLANEOUS BASE	4	\$750.00	CY	\$3,000.00	\$1,120.00	\$4,480.00	\$994.75	\$3,979.00				
11	TRENCH BACKFILL SLURRY (CLASS 270-E-500)	3	\$875.00	CY	\$2,625.00	\$1,400.00	\$4,200.00	\$1,135.00	\$3,405.00				
12	AC PAVEMENT	3	\$1,625.00	TON	\$4,875.00	\$4,200.00	\$12,600.00	\$3,366.00	\$10,098.00				
13	PCC PAVEMENT	1	\$1,000.00	CY	\$1,000.00	\$3,920.00	\$3,920.00	\$2,678.00	\$2,678.00				

Project ID: TSM0010459
Bids Opened: 10/14/2025

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engine	er's Estimate	(5) Servitek	Electric, Inc.	(6) POLO En	gineering Inc.				
(1) Pre	eliminary Bid Amount					\$	2,384,812.00	\$	52,403,063.78				
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
14	PCC CURB & GUTTER	8	\$112.50	LF	\$900.00	\$350.00	\$2,800.00	\$162.00	\$1,296.00				
15	PCC CURB & GUTTER, TYPE	36	\$112.50	LF	\$4,050.00	\$350.00	\$12,600.00	\$202.00	\$7,272.00				
	A2-VAR												
16	PCC WALK, 4" THICK	10	\$37.50	SF	\$375.00	\$140.00	\$1,400.00	\$69.90	\$699.00				
17	PCC WALK & CURB RAMPS, 4" THICK	200	\$37.50	SF	\$7,500.00	\$140.00	\$28,000.00	\$80.64	\$16,128.00				
18	DETECTABLE WARNING SURFACE	40	\$180.00	SF	\$7,200.00	\$175.00	\$7,000.00	\$242.00	\$9,680.00				
19	2" CONDUIT (SCH 80 PVC)	600	\$100.00	LF	\$60,000.00	\$49.00	\$29,400.00	\$60.48	\$36,288.00				
20	3" CONDUIT (SCH 80 PVC)	770	\$110.00	LF	\$84,700.00	\$51.00	\$39,270.00	\$120.96	\$93,139.20				
21	4" CONDUIT (SCH 80 PVC)	90	\$120.00	LF	\$10,800.00	\$55.00	\$4,950.00	\$6.14	\$552.60				
22	2-PAIR DETECTOR LEAD-IN	6000	\$4.00	LF	\$24,000.00	\$8.00	\$48,000.00	\$8.00	\$48,000.00				
	CABLE	0000	•		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
23	3-CONDUCTOR SIGNAL CABLE	830	\$3.15	LF	\$2,614.50	\$8.00	\$6,640.00	\$6.00	\$4,980.00				
	(EXCLUDING CONDUIT)												
24	5-CONDUCTOR SIGNAL CABLE (EXCLUDING CONDUIT)	190	\$5.40	LF	\$1,026.00	\$9.00	\$1,710.00	\$6.00	\$1,140.00				
25	12-CONDUCTOR SIGNAL	860	\$6.00	LF	\$5,160.00	\$12.00	\$10,320.00	\$6.00	\$5,160.00				_
	CABLE(EXCLUDING CONDUIT)												
26	#6 WIRE	5	\$1.90	LF	\$9.50	\$32.00	\$160.00	\$5.40	\$27.00				
27	#10 WIRE	1715	\$1.90	LF	\$3,258.50	\$7.00	\$12,005.00	\$5.00	\$8,575.00				
28	REMOVE PULL BOX AND RESURFACE SIDEWALK	3	\$2,000.00	EA	\$6,000.00	\$1,200.00	\$3,600.00	\$2,016.00	\$6,048.00				
29	NO. 5 PULL BOX INCL PCC COVER	5	\$1,000.00	EA	\$5,000.00	\$3,480.00	\$17,400.00	\$4,448.80	\$22,244.00				
30	NO. 5T PULL BOX (INCLUDE STEEL COVER)	1	\$1,000.00	EA	\$1,000.00	\$3,465.00	\$3,465.00	\$5,376.00	\$5,376.00				
31	NO. 6 PULL BOX INCL PCC COVER	19	\$1,200.00	EA	\$22,800.00	\$3,495.00	\$66,405.00	\$4,851.84	\$92,184.96				
32	TYPE 2 COMPOSITE PULL BOX INCLUDING COVER	6	\$1,500.00	EA	\$9,000.00	\$3,585.00	\$21,510.00	\$2,623.50	\$15,741.00				
33	TYPE 3 COMPOSITE PULL BOX INCLUDING COVER	4	\$1,700.00	EA	\$6,800.00	\$4,470.00	\$17,880.00	\$3,438.00	\$13,752.00				
34	INDUCTIVE LOOP DETECTOR AND LEADS SAW CUT	7810	\$15.00	LF	\$117,150.00	\$45.00	\$351,450.00	\$22.85	\$178,458.50				

Project ID: TSM0010459

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engine	eer's Estimate	` '	Electric, Inc.	(6) POLO Eng	-				
` '	liminary Bid Amount					\$2	2,384,812.00	\$	2,403,063.78				
(2) Uni	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
35	REMOVE CONTROLLER	2	\$650.00	EA	\$1,300.00	\$2,400.00	\$4,800.00	\$336.00	\$672.00				
36	REMOVE TYPE 3 STANDARD	2	\$6,000.00	EA	\$12,000.00	\$6,000.00	\$12,000.00	\$2,016.00	\$4,032.00				_
	NEAR HIGH VOLTAGE LINES												
	(COMPLETE)(EXCL. FOUND,)												
37	REMOVE TYPE 17 STANDARD	4	\$1,300.00	EA	\$5,200.00	\$6,000.00	\$24,000.00	\$2,285.00	\$9,140.00				
	(COMPLETE) (EXCL. FOUND.)												
38	REMOVE TYPE 17 STANDARD	2	\$6,000.00	EA	\$12,000.00	\$6,000.00	\$12,000.00	\$2,285.00	\$4,570.00				
	NEAR HIGH VOLTAGE LINES												
	(COMPLETE) (EXCL. FOUND.)												
39	REMOVE TYPE 24 STANDARD	2	\$2,500.00	EA	\$5,000.00	\$6,000.00	\$12,000.00	\$2,520.00	\$5,040.00				
	(COMPLETE) (EXCL. FOUND.)												
40	REMOVE VEHICLE HEAD	17	\$350.00	EA	\$5,950.00	\$1,800.00	\$30,600.00	\$471.00	\$8,007.00				
	(COMPLETE)				* / =								
41	REMOVE PEDESTRIAN HEAD	6	\$250.00	EA	\$1,500.00	\$1,800.00	\$10,800.00	\$336.00	\$2,016.00				
	(COMPLETE)				*		4		4 (2.2.2.2.2				
42	REMOVE PEDESTRIAN PUSH	1	\$150.00	EA	\$150.00	\$1,200.00	\$1,200.00	\$108.00	\$108.00				
	BUTTON		#4.000.00		#0.000.00	#7.000.00	** ** ** ** ** ** ** **	***	0.1.000.00				
43	REMOVE TYPE 3 FOUNDATION	2	\$1,900.00	EA	\$3,800.00	\$7,200.00	\$14,400.00	\$2,016.00	\$4,032.00				
44	REMOVE TYPE 17	6	\$1,900.00	EA	\$11,400.00	\$7,200.00	\$43,200.00	\$2,688.00	\$16,128.00				
45	FOUNDATION PENALY FOR A 1		#4.000.00		Ф0,000,00	#40.000.00	#04 000 00	ФО ООО ОО	# F 070 00				
45	REMOVE TYPE 24	2	\$1,900.00	EA	\$3,800.00	\$10,800.00	\$21,600.00	\$2,688.00	\$5,376.00				
40	FOUNDATION PENOVE A CHANNEL II P	00	\$65.00		¢2 525 00	\$600.00	\$23,400.00	\$41.00	\$1,599.00				
46	REMOVE 2-CHANNEL ILD	39	\$65.00	EA	\$2,535.00	φουυ.υυ	\$23,400.00	\$41.00	\$1,599.00				
47	SENSOR UNIT		\$200.00	Ε.	\$200.00	\$600.00	\$600.00	\$269.00	\$269.00				
47	REMOVE GPS UTB UNIT &	1	\$200.00	EA	\$200.00	\$600.00	\$600.00	\$209.00	\$269.00				
48	ANTENNA REMOVE RADIO CORRECTED	3	\$250.00	EA	\$750.00	\$600.00	\$1,800.00	\$1,123.00	\$3,369.00				
48	TIME BASE UNIT	3	φ230.00	EA	\$750.00	φουο.υυ	\$1,800.00	φ1,123.00	φ3,309.00				
49	REMOVE RCTB ANTENNA AND	4	\$525.00	EA	\$2,100.00	\$600.00	\$2,400.00	\$1,123.00	\$4,492.00				
49	CABLE	4	ψ323.00	EA	Ψ2,100.00	φ000.00	Ψ2,400.00	ψ1,123.00	ψ4,492.00				
50	REMOVE CONFLICT MONITOR	1	\$250.00	EA	\$250.00	\$600.00	\$600.00	\$525.00	\$525.00				
51	RELOCATE LUMINAIRE	10	\$500.00	EA	\$5,000.00	\$600.00	\$6,000.00	\$3,360.00	\$33,600.00				_
52	RELOCATE VEHICLE HEAD	8	\$500.00	EA	\$4,000.00	\$900.00	\$7,200.00	\$269.00	\$2,152.00				_
52	(COMPLETE)	3		_, 、	. ,		. ,						
	\/												

Project ID: TSM0010459

Bids Opened: 10/14/2025

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

				Engine	er's Estimate	(5) Servitek	Electric, Inc.	(6) POLO En	gineering Inc.				
(1) Pre	eliminary Bid Amount					\$	2,384,812.00	\$	2,403,063.78				
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
53	RELOCATE PEDESTRIAN HEAD (COMPLETE)	7	\$500.00	EA	\$3,500.00	\$900.00	\$6,300.00	\$672.00	\$4,704.00				
54	RELOCATE PEDESTRIAN PUSH BUTTON	4	\$250.00	EA	\$1,000.00	\$1,800.00	\$7,200.00	\$336.00	\$1,344.00				
55	RELOCATE INTERNALLY ILLUMINATED STREET NAME SIGN	2	\$600.00	EA	\$1,200.00	\$1,200.00	\$2,400.00	\$840.00	\$1,680.00				
56	RELOCATE RETRO REFLECTIVE STREET NAME SIGN	4	\$600.00	EA	\$2,400.00	\$1,200.00	\$4,800.00	\$840.00	\$3,360.00				
57	RELOCATE EV PREEMPTION MODULE	2	\$350.00	EA	\$700.00	\$2,400.00	\$4,800.00	\$2,688.00	\$5,376.00				
58	RELOCATE WIRELESS RADIO ANTENNA	1	\$1,300.00	EA	\$1,300.00	\$3,000.00	\$3,000.00	\$2,688.00	\$2,688.00				
59	TYPE 2070 LX CONTROLLER WITH LINUX PROCESSOR AND D4 PROGRAM	1	\$12,000.00	EA	\$12,000.00	\$19,646.00	\$19,646.00	\$18,876.00	\$18,876.00				
60	TYPE ATC 2070 CONTROLLER WITH OMNI EX SOFTWARE	1	\$12,000.00	EA	\$12,000.00	\$16,515.00	\$16,515.00	\$13,723.00	\$13,723.00				
61	FURNISH AND INSTALL BITRANS 233 PROGRAM	1	\$500.00	EA	\$500.00	\$6,936.00	\$6,936.00	\$5,139.00	\$5,139.00				
62	2-CHANNEL ILD SENSOR UNIT	2	\$350.00	EA	\$700.00	\$1,005.00	\$2,010.00	\$611.00	\$1,222.00				-
63	GPS UTB UNIT AND ANTENNA	18	\$2,200.00	EA	\$39,600.00	\$5,196.00	\$93,528.00	\$6,300.00	\$113,400.00				
64	2070 7G GPS MODULE AND ANTENNA	2	\$2,250.00	EA	\$4,500.00	\$4,877.00	\$9,754.00	\$3,987.00	\$7,974.00				
65	2010 ECL CONFLICT MONITOR	1	\$2,500.00	EA	\$2,500.00	\$3,723.00	\$3,723.00	\$3,871.00	\$3,871.00				
66	1-CAMERA VIDEO DETECTION SYSTEM (COMPLETE)	2	\$32,000.00	EA	\$64,000.00	\$32,125.00	\$64,250.00	\$38,976.00	\$77,952.00				
67	2-CAMERA VIDEO DETECTION SYSTEM (COMPLETE)	1	\$38,000.00	EA	\$38,000.00	\$43,457.00	\$43,457.00	\$41,664.00	\$41,664.00				
68	4-UNIT VIDEO/RADAR DETECTION SYSTEM (COMPLETE)	3	\$62,500.00	EA	\$187,500.00	\$67,262.00	\$201,786.00	\$70,560.00	\$211,680.00				
69	RELOCATE VIDEO/RADAR DETECTION UNIT	4	\$1,300.00	EA	\$5,200.00	\$2,400.00	\$9,600.00	\$13,440.00	\$53,760.00				

Project ID: TSM0010459

Bids Opened: 10/14/2025

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

(1) Preliminary Bid Amount Cy Unit Price Detail Item Description Cy Unit Price Unit Amount Unit Price Unit Unit Price Unit Unit Price Amount Unit Price Unit Unit Price Unit Price Unit Price Unit Unit Price					Engine	er's Estimate	(5) Servitek	Electric, Inc.	(6) POLO En	gineering Inc.				
Internal Description Qty Unit Price Unit Amount Unit Price Amount Unit	(1) Pre	eliminary Bid Amount					\$	2,384,812.00	\$	52,403,063.78				
Description Clay Unit Price Unit Amount Unit Price Amo	(2) Un	it Price Detail												
TO RECONFIGURE RADAR 2 \$300.00 EA \$800.00 \$3,600.00 \$7,200.00 \$2,016.00 \$4,032.00 \$8,000.00 \$1,000.00			Qty	Unit Price	Unit	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
SENSING ZONE	70	RECONFIGURE RADAR	•	\$300.00	EA	\$600.00	\$3,600.00	\$7,200.00	\$2,016.00	\$4,032.00				
Type 24 STANDARD		SENSING ZONE												
TYPE 26 STANDARD	71	TYPE 19 STANDARD	3	\$12,000.00	EA	\$36,000.00	\$27,150.00	\$81,450.00	\$25,359.00	\$76,077.00				
Type 29 STANDARD 3 \$22,000.00 EA \$66,000.00 \$39,900.00 \$119,700.00 \$46,463.00 \$139,388.00 \$15,700.00 \$46,663.00 \$139,388.00 \$15,700.00 \$46,663.00 \$139,388.00 \$15,700.00 \$46,663.00 \$139,388.00 \$15,700.00 \$46,663.00 \$139,388.00 \$15,700.00 \$46,663.00 \$139,388.00 \$15,700.00 \$12,700.00	72	TYPE 24 STANDARD	1	\$15,000.00	EA	\$15,000.00	\$28,650.00	\$28,650.00	\$27,814.00	\$27,814.00				
75 TYPE 19 STANDARD	73	TYPE 26 STANDARD	3	\$19,000.00	EA	\$57,000.00	\$32,400.00	\$97,200.00	\$28,931.00	\$86,793.00				
FOUNDATION 76 TYPE 24 STANDARD	74	TYPE 29 STANDARD	3	\$22,000.00	EA	\$66,000.00	\$39,900.00	\$119,700.00	\$46,463.00	\$139,389.00				
TYPE 24 STANDARD	75	TYPE 19 STANDARD	3	\$5,000.00	EA	\$15,000.00	\$4,950.00	\$14,850.00	\$6,720.00	\$20,160.00				
FOUNDATION 7 TYPE 26 STANDARD 3 \$6,300.00 EA \$18,900.00 \$11,138.00 \$33,414.00 \$8,968.00 \$26,904.00 FOUNDATION 8 TYPE 29 STANDARD 3 \$6,900.00 EA \$20,700.00 \$11,2375.00 \$37,125.00 \$88,400.00 \$25,200.00 FOUNDATION 9 30 SIGNAL MAST ARM 5 \$4,400.00 EA \$22,000.00 \$5,918.00 \$29,590.00 \$5,880.00 \$29,400.00 \$15,120.														
TYPE 26 STANDARD 3 \$6,300.00 EA \$18,900.00 \$11,138.00 \$33,414.00 \$8,968.00 \$26,904.00	76		1	\$5,700.00	EA	\$5,700.00	\$11,138.00	\$11,138.00	\$6,720.00	\$6,720.00				<u> </u>
FOUNDATION 78														
TYPE 29 STANDARD 3	77		3	\$6,300.00	EA	\$18,900.00	\$11,138.00	\$33,414.00	\$8,968.00	\$26,904.00				
FOUNDATION 79 30' SIGNAL MAST ARM 5 \$4,400.0 EA \$22,000.00 \$5,990.00 \$5,880.00 \$29,400.00 \$ 80 35' SIGNAL MAST ARM 2 \$5,000.00 EA \$10,000.00 \$7,260.00 \$14,520.00 \$7,560.00 \$15,120.00 \$ 81 40' SIGNAL MAST ARM 1 \$5,700.00 EA \$5,700.00 \$8,843.00 \$8,843.00 \$9,160.00 \$9,														
79 30' SIGNAL MAST ARM 5 \$4,400.00 EA \$22,000.00 \$5,918.00 \$29,590.00 \$5,880.00 \$29,400.00 80 35' SIGNAL MAST ARM 2 \$5,000.00 EA \$10,000.00 \$7,260.00 \$14,520.00 \$7,560.00 \$15,120.00 81 40' SIGNAL MAST ARM 1 \$5,700.00 EA \$5,700.00 \$8,843.00 \$8,843.00 \$9,160.00 \$9,160.00 \$9,400.00	78		3	\$6,900.00	EA	\$20,700.00	\$12,375.00	\$37,125.00	\$8,400.00	\$25,200.00				
80 35' SIGNAL MAST ARM 2 \$5,000.00 EA \$10,000.00 \$7,260.00 \$14,520.00 \$7,560.00 \$15,120.00 81 40' SIGNAL MAST ARM 1 \$5,700.00 EA \$5,700.00 \$8,843.00 \$8,843.00 \$9,160.00 \$9,160.00 \$2,000.														
81 40' SIGNAL MAST ARM 1 \$5,700.00 EA \$1,3800.00 \$10,200.00 \$20,400.00 \$9,160.00 \$9,160.00 \$9,408.00 \$82 50' SIGNAL MAST ARM 2 \$6,900.00 EA \$13,800.00 \$10,200.00 \$20,400.00 \$4,704.00 \$9,408.00 \$1,140.00 \$1,														
82 50' SIGNAL MAST ARM 2 \$6,900.00 EA \$13,800.00 \$10,200.00 \$20,400.00 \$4,704.00 \$9,408.00 \$83,450.00 \$1,140.00 \$1,140.00 \$81,140.00			2											
83 6' LUMINAIRE MAST ARM 1 \$1,500.00 EA \$1,500.00 \$3,450.00 \$3,450.00 \$1,140.00 \$1,140.00 \$1,140.00 \$4,450.00 \$4,4875.00 \$4,875.00 \$4,960.00 \$1,969.00 \$1,969.00 \$1,969.00 \$1,969.00 \$1,969.00 \$1,969.00 \$1,990.00 \$1,99			1											
84 6' HORIZONTAL LUMINAIRE 1 \$1,500.00 EA \$1,500.00 \$3,450.00 \$3,450.00 \$807.00 \$807.00 \$807.00 \$MAST ARM 85 8' LUMINAIRE MAST ARM 1 \$1,500.00 EA \$1,500.00 \$3,450.00 \$1,197.00 \$1,197.00 \$1,197.00 \$1,197.00 \$1,459.00			2											
MAST ARM 85 8' LUMINAIRE MAST ARM 1 \$1,500.00 EA \$1,500.00 \$3,450.00 \$1,197.00 \$1,197.00 \$1,197.00 \$1,459			1											
85 8' LUMINAIRE MAST ARM 1 \$1,500.00 EA \$1,500.00 \$3,450.00 \$3,450.00 \$1,197.00 \$1,197.00 86 8' HORIZONTAL LUMINAIRE 1 \$1,500.00 EA \$1,500.00 \$3,450.00 \$1,459.00 \$1,459.00 MAST ARM 4 \$1,200.00 EA \$4,800.00 \$3,450.00 \$13,800.00 \$1,623.00 \$6,492.00 88 15' LUMINAIRE MAST ARM 2 \$1,500.00 EA \$3,000.00 \$4,950.00 \$9,900.00 \$1,693.00 \$3,386.00 89 PEDESTRIAN PUSH BUTTON 3 \$600.00 EA \$1,800.00 \$1,625.00 \$4,875.00 \$649.00 \$1,947.00 90 PEDESTRIAN PUSH BUTTON 1 \$750.00 EA \$7,650.00 \$7,650.00 \$1,969.00 \$1,969.00 91 PEDESTRIAN PUSH BUTTON 1 \$900.00 EA \$900.00 \$2,325.00 \$2,316.00 \$2,016.00 POST FOUNDATION 1 \$900.00 EA \$900.00 \$2,325.00 \$2,016.00 \$2,016.00 </td <td>84</td> <td></td> <td>1</td> <td>\$1,500.00</td> <td>EA</td> <td>\$1,500.00</td> <td>\$3,450.00</td> <td>\$3,450.00</td> <td>\$807.00</td> <td>\$807.00</td> <td></td> <td></td> <td></td> <td></td>	84		1	\$1,500.00	EA	\$1,500.00	\$3,450.00	\$3,450.00	\$807.00	\$807.00				
86 8' HORIZONTAL LUMINAIRE 1 \$1,500.00 EA \$1,500.00 \$3,450.00 \$1,459.00 \$1,4														
MAST ARM 87 12' LUMINAIRE MAST ARM 4 \$1,200.00 EA \$4,800.00 \$3,450.00 \$13,800.00 \$1,623.00 \$6,492.00 88 15' LUMINAIRE MAST ARM 2 \$1,500.00 EA \$3,000.00 \$4,950.00 \$9,900.00 \$1,693.00 \$3,386.00 89 PEDESTRIAN PUSH BUTTON 3 \$600.00 EA \$1,800.00 \$1,625.00 \$4,875.00 \$649.00 \$1,947.00 90 PEDESTRIAN PUSH BUTTON 1 \$750.00 EA \$7,650.00 \$7,650.00 \$1,969.00 \$1,969.00 91 PEDESTRIAN PUSH BUTTON 1 \$900.00 EA \$900.00 \$2,325.00 \$2,016.00 \$2,016.00 POST FOUNDATION 1 \$900.00 EA \$900.00 \$2,325.00 \$2,016.00 \$2,016.00			1					* *						
87 12' LUMINAIRE MAST ARM 4 \$1,200.00 EA \$4,800.00 \$3,450.00 \$13,800.00 \$1,623.00 \$6,492.00 88 15' LUMINAIRE MAST ARM 2 \$1,500.00 EA \$3,000.00 \$4,950.00 \$9,900.00 \$1,693.00 \$3,386.00 89 PEDESTRIAN PUSH BUTTON 3 \$600.00 EA \$1,800.00 \$1,625.00 \$4,875.00 \$649.00 \$1,947.00 90 PEDESTRIAN PUSH BUTTON 1 \$750.00 EA \$7,650.00 \$7,650.00 \$1,969.00 \$1,969.00 91 PEDESTRIAN PUSH BUTTON 1 \$900.00 EA \$900.00 \$2,325.00 \$2,016.00 \$2,016.00 POST FOUNDATION 1 \$900.00 EA \$900.00 \$2,325.00 \$2,016.00 \$2,016.00	86		1	\$1,500.00	EA	\$1,500.00	\$3,450.00	\$3,450.00	\$1,459.00	\$1,459.00				
88 15' LUMINAIRE MAST ARM 2 \$1,500.00 EA \$3,000.00 \$4,950.00 \$9,900.00 \$1,693.00 \$3,386.00 89 PEDESTRIAN PUSH BUTTON 3 \$600.00 EA \$1,800.00 \$1,625.00 \$4,875.00 \$649.00 \$1,947.00 90 PEDESTRIAN PUSH BUTTON POST 1 \$750.00 EA \$7,650.00 \$7,650.00 \$1,969.00 \$1,969.00 91 PEDESTRIAN PUSH BUTTON POST FOUNDATION 1 \$900.00 EA \$900.00 \$2,325.00 \$2,016.00 \$2,016.00														
89 PEDESTRIAN PUSH BUTTON 3 \$600.00 EA \$1,800.00 \$1,625.00 \$4,875.00 \$649.00 \$1,947.00 90 PEDESTRIAN PUSH BUTTON POST 1 \$750.00 EA \$750.00 \$7,650.00 \$1,969.00 \$1,969.00 91 PEDESTRIAN PUSH BUTTON POST FOUNDATION 1 \$900.00 EA \$900.00 \$2,325.00 \$2,016.00 \$2,016.00														
90 PEDESTRIAN PUSH BUTTON 1 \$750.00 EA \$750.00 \$7,650.00 \$1,969.00 \$1,969.00 POST 91 PEDESTRIAN PUSH BUTTON 1 \$900.00 EA \$900.00 \$2,325.00 \$2,325.00 \$2,016.00 POST FOUNDATION														
POST 91 PEDESTRIAN PUSH BUTTON 1 \$900.00 EA \$900.00 \$2,325.00 \$2,325.00 \$2,016.00 \$2,016.00 POST FOUNDATION														
91 PEDESTRIAN PUSH BUTTON 1 \$900.00 EA \$900.00 \$2,325.00 \$2,325.00 \$2,016.00 \$2,016.00 POST FOUNDATION	90		1	\$750.00	EA	\$750.00	\$7,650.00	\$7,650.00	\$1,969.00	\$1,969.00				
POST FOUNDATION	91	PEDESTRIAN PUSH BUTTON	1	\$900.00	EA	\$900.00	\$2,325.00	\$2,325.00	\$2,016.00	\$2,016.00				
02 INTERNALIVILLIMINATED 5 \$3,000.00 EA \$15,000.00 \$1,350.00 \$6,750.00 \$4,414.00 \$22,070.00		POST FOUNDATION												
35 INTELIMALI ILLUMINATED 3 \$0,000.00 EV \$10,000.00 \$0,000.00 \$0,100.00 \$22,010.00 \$22,010.00	92	INTERNALLY ILLUMINATED	5	\$3,000.00	EA	\$15,000.00	\$1,350.00	\$6,750.00	\$4,414.00	\$22,070.00				
STREET NAME SIGN														
93 3-12" LED VEHICLE HEAD 38 \$1,500.00 EA \$57,000.00 \$2,475.00 \$94,050.00 \$3,696.00 \$140,448.00	93		38	\$1,500.00	EA	\$57,000.00	\$2,475.00	\$94,050.00	\$3,696.00	\$140,448.00				
(COMPLETE)		(COMPLETE)				_								

Project ID: TSM0010459
Bids Opened: 10/14/2025

Bids Opened: 10/14/2025 Project Manager: Sa'ld Poosti 818-370-1936

(1) Droliminary Rid Amount			Engineer's Estimate		(5) Servitek Electric, Inc. \$2,384,812.00		(6) POLO Engineering Inc. \$2,403,063.78						
(1) Preliminary Bid Amount					Ф.	2,304,012.00		\$2,403,003.76					
(2) Unit Price Detail Item Description Qty Unit Price		Unit Drice	Unit	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	
94	5-12" LED VEHICLE HEAD	<u>Qiy</u> 2	\$2,000.00	EA	<u>Amount</u> \$4,000.00	\$3.140.00	\$6,280.00	\$4,963.50	<u>Amount</u> \$9,927.00	Office Price	<u>Amount</u>	<u>Office</u>	Amount
94	(COMPLETE)	2	φ2,000.00	EA	φ4,000.00	φ3,140.00	φ0,280.00	φ4,903.30	φ9,927.00				
95	LED PEDESTRIAN HEAD	11	\$1,300.00	EA	\$14,300.00	\$1,908.00	\$20,988.00	\$1,958.00	\$21,538.00				
00	(COMPLETE)		, ,		, ,	, ,	, 1,111	, ,	, ,				
96	SALVAGE EQUIPMENT	1	\$5,000.00	LS	\$5,000.00	\$9,000.00	\$9,000.00	\$21,504.00	\$21,504.00				
97	12" STRIPING	4	\$6.25	LF	\$25.00	\$8.00	\$32.00	\$16.50	\$66.00				
	(THERMOPLASTIC)												
98	DETAIL 22 (THERMOPLASTIC)	325	\$5.00	LF	\$1,625.00	\$4.00	\$1,300.00	\$26.61	\$8,648.25				
99	DETAIL 38 (THERMOPLASTIC)	75	\$5.00	LF	\$375.00	\$5.00	\$375.00	\$23.67	\$1,775.25				
100	DETAIL 40 (THERMOPLASTIC)	70	\$5.00	LF	\$350.00	\$5.00	\$350.00	\$7.67	\$536.90				
101	PAVEMENT MARKINGS	30	\$10.00	SF	\$300.00	\$14.00	\$420.00	\$20.70	\$621.00				
	(THERMOPLASTIC)												
102	RED CURB MARKING	1864	\$7.00	LF	\$13,048.00	\$4.00	\$7,456.00	\$15.15	\$28,239.60				
103	REMOVE CONFLICTING	315	\$7.00	LF	\$2,205.00	\$10.00	\$3,150.00	\$20.70	\$6,520.50				
	STRIPING												
104	SIGN PANEL	5	\$230.00	EA	\$1,150.00	\$231.00	\$1,155.00	\$332.80	\$1,664.00				
105	INSTALL SIGN (MAST-ARM	2	\$375.00	EA	\$750.00	\$523.00	\$1,046.00	\$1,848.00	\$3,696.00				
	HANGER)												
106	INSTALL SIGN (ROADSIDE	4	\$650.00	EA	\$2,600.00	\$105.00	\$420.00	\$369.75	\$1,479.00				
	SIGN)												
107	FURNISH AND INSTALL SIGN	2	\$350.00	EA	\$700.00	\$315.00	\$630.00	\$444.00	\$888.00				
	POST (ROADSIDE SIGN)												
108	RELOCATE SIGN	9	\$400.00	EA	\$3,600.00	\$105.00	\$945.00	\$221.78	\$1,996.02				
109	RELOCATE SIGN POST	1	\$275.00	EA	\$275.00	\$315.00	\$315.00	\$444.00	\$444.00				
110	TRAFFIC CONTROL	1	\$175,000.00	LS	\$175,000.00	\$70,000.00	\$70,000.00	\$80,640.00	\$80,640.00				
111	FLASHING ARROW SIGN	2	\$5,000.00	EA	\$10,000.00	\$7,125.00	\$14,250.00	\$941.00	\$1,882.00				
112	CHANGEABLE MESSAGE SIGN	2	\$5,000.00	EA	\$10,000.00	\$7,125.00	\$14,250.00	\$2,016.00	\$4,032.00				
Unit Price Total		(\$1,605,581.50	\$.	2,384,812.00		\$2,403,063.78						
(3) LSBE/DVBE/SE Preference Amount						\$0.00		\$112,004.10					
(4) LSBE/DVBE/SE Adjusted Amount			\$2,384,812.00			\$2,291,059.68							
Comments					-	,		, , , , , ,					